Strongman EHRERE

EEGEWR

GHGMZ#7I

| R

1. BB/, §E300 kgflcm?.

2. IS, TR SRS LIBRFEK.

3. {EAKE  SEETIE.

4. EORMOEIREE, WRBS

5 BEMKS, EEAMNESERZ,

6. MEFERE, #£3.5~64ml.

7. SN ERESER, BRESSERD.

W 2 5E 5 A

GH-4 F -32 -R
R5ISRS REAFR HE REH Q@ BIKE)

F:1SOs; e
GH-"EEB#7] AMORE)

= E:DIN&H R: IEESStS @
GM-"5E &% EER .
Eiﬁ%’?ﬂ LB RemmRR L. EstAm
S EHAEBERE
W RER
- & F B 5 kgflcm? i#E rpm N O -
. H = =
75K
ml/rev kg
HE == Min Max A0 H O
3.5 2.4
GM-2 220 250
5 2.5
1/2m 1/2"
GH-2 6.5 250 300 2.6
8 2.8
GM-3 10 220 250 4.8
13 3000 E 1/2" 5.0
GH-3 250 300
16 5.3
600
GM-4 20 220 250 9.5
25 1-1/4" 3/4" 10.0
GH-4 250 300
32 10.5
GM-5 40 220 250 19.5
50 2500 1-1/2" 1" 20.5
GH-5 250 300
64 21.5

A-083



it

Gl
B
®
o

Strongman

BmSHO-REHH
_ EREES T, 8 78 Vmin ERRBATHBNEkw
B 5% i rpm
7 70 140 210 250 300 7 70 140 210 250 300
G#-2-35 3.59|3.483.39 [3.28 | 3.24] 3.16]0.13] 0.61]| 1.10] 1.60 | 1.89 |2.26
-5 5.32|5.09 | 4.95[4.79 | 4.70] 4.61]0.14] 0.77| 1.44| 200 | 2.58 |3.13
-6.5 6.54 | 6.36 | 6.20 | 6.04 | 5.94| 5.82|0.16| 0.95| 1.78| 2.74 | 3.19 |3.87
-8 8.18|7.95 | 7.74 | 7.55 | 7.42| 7.28 |0.16| 1.17| 2.20 | 3.38 | 3.93 |4.77
G3#-3-10 10.1]/9.95| 9.7 [ 9.4 | 93| 9.1 [0.17] 1.56] 2.68] 4.17 [ 4.96 | 6.0
-13 1000 |13.1]13.0[126[12.4|122]12.0|0.26| 1.98| 3.50 5.25[6.17 [7.58
-16 15.7| 153 [15.0 | 14.7 | 14.5| 14.2 |0.32| 2.32| 4.15| 6.23 | 7.33 | 9.01
G- 4-20 20.6[20.119.7 [19.2| 19.0] 18.7 ] 0.42| 3.07| 5.45] 8.08 [ 9.61 | 11.5
- 25 25.6| 251 |24.6 | 24.1 | 23.8| 235|0.48| 3.72| 6.76| 10.1 | 11.9 |14.3
-32 32.6|31.5|30.9 | 30.3 | 30.0| 29.6 | 0.54| 4.62| 8.50| 12.6 | 15.0 | 18.0
G- 5-40 40.7|39.838.9|38.1|37.6/37.0] 1.1 | 6.06| 10.7] 16.0| 18.9 |23.3
- 50 50.2|49.2|48.3 473 | 46.8| 461 | 1.2 | 7.28| 133 19.7 [ 23.3 |28.0
- 64 63.9|62.5|61.4 | 602 | 59.5| 58.6 | 1.3 | 9.14| 16.9| 25.0 | 30.3 |35.6
G¥-2-35 540524511 | 497 | 490] 4.80]0.19] 0.94]| 1.65] 2.41 | 2.83|3.39
-5 7.85|7.65|7.44 | 7.25 | 7.13] 6.98 |0.22] 1.15] 2.17| 3.25 | 3.78 [ 4.60
-6.5 9.1 |9.58 | 9.35 |9.13| 8.99| 8.84 |0.23| 1.44| 2.68| 4.01 | 4.67 |5.67
-8 12.2]11.8 [11.60[11.35| 11.2| 11.0[0.25| 1.75| 3.30| 4.95 | 5.76 |7.00
G#-3-10 15.2]14.8 [ 145142 | 14.0| 13.8 |0.26] 2.27| 4.07| 6.10| 7.26 |8.82
-13 19.8(19.4 [19.0 | 18.7 | 18.5| 18.2|0.40| 2.89| 5.31| 7.78 | 9.26 | 11.4
-16 1500  [">36[23.1 226 |22.2] 22.0|21.7|0.49] 3.39| 6.30| 9.35 | 11.0 | 13.5
G- 4-20 30.9(30.3|29.7 |29.2 | 28.8| 28.4 | 0.61| 4.61|8.17|12.2|14.4 |17.3
-25 38.4|37.7|37.1 365 | 36.1| 35.7|0.77| 5.58| 10.2] 15.1 | 17.9 |21.5
- 32 48.3|475(46.7 | 459 | 45.4] 44.9]1.02] 6.93| 12.8[ 18.9]22.5 [27.0
G- 5-40 61.1(59.9 | 58.8|57.6 | 56.9| 56.21.80| 9.33 | 16.3| 24.2 | 28.7 |35.3
50 75.4| 740|728 716 | 70.8| 700| 2.0 | 11.2| 20.1| 29.8 | 35.4 |425
-64 95.4| 941|925 |91.0 | 90.0| 89.0| 2.1 | 14.1| 255| 37.9 | 45.0 |54.0
HmiE: 40°C+5
fEBHH: 1ISO VG68
| R
(%) MR dB(A) IREE
100 80
T~
T~ G5
T~
90 —~ 70 /// 1
ya 1T 4
] G3
/
N G2
80 / 60 //'
A
/
70 / 50
0 100 200 300 0 100 200 300
[B 77 kgf/icm® [B2 77 kgf/cm?

A-084



Strongman =§ T
W GX-2E(F)-x ATy
J] R gE A C @D
G*-2*-3.5 102.5 51 8.9
= G*-2*-5 1075 | 535 | @11
| s G*-2*-6.5 111.5 55.5 @12
G*-2*-8 116.5 58 @13
4-M8X12
PN |
SAEJ 518b-1/2"
A B
c 4
i 1
o | 1] — S
N A I m( 8
43HT o 3
7@&
4-M8X12
HO
SAEJ 518b-1/2"
W G¥%-2L- 3 [aIEERY
175 )\D
/@) @} N\ SAEJ 518b-1/2" ﬁ%ﬁ' B E F K N
R In¥ G*-2E-* 41 30 205 | 6Mh7 | 18h7
s LT G*-2F(L)-* 59 34 |17.73/h7|3.968/h7 [15.875/h7
- d .
3| 2| o+ - - - 241 1
Sl T =
| —
[ —
IaN %E
\SZ J
C 1547
e B T
sleir 1 o
& ¥
vinu 11
HO o
SAEJ 518b-1/2"

A-085



W Strongman

it
Gl

B Gx3E(F)-%5REY

Gl A C @D
) G*-3*-10 126.5 60 | o14
e— G*-3*-13 1325 63 | @17
G*-3*-16 1375 | 635 | O18
o L
; A B
C 5
—
o D 1% £
1 g
P s vl | =1 N A ]
At Y 3
- ,*\@
= ‘
SAEJ518b-1/2"
4-M8X15
B G3x-3L-3x faEEEy
114.3 2.7
262 RIgE B E F K N
v (D N AR i
SAEJ518b-1" G*-3E- 41 30 20.5 6/h7 20/h7
Ll — . .
S 1] swoas G*-3F(L)- 65 38 |21.25/7 | 4.76/h7 |19.05/h7
: & & .
el 5o @ : i
. ﬂ 5
= —
) @ 7,
A B
o] 16,
{, — 75 E
. Y (==
N i b | f
b i AR = i o
° o 8
5 441
4-M8X15

A-086



Strongman

it
bl
BB

W IR

B GX4E(F)- AR

e e . A C @D
\/J_ G*-4*-20 150 71 @18
A 1 < G*-4*-25 156 74 | @20
A1 | I— Y G*-47-32 164 78 | ©24
N — [
SAEJ518b-1-1/4"
4-M10X14
A B 172
C 6, 146
P el @ :
EEn ; 2 2
{}[[ @
$o =
SAEJ518b-3/4"
4-M10X15
B Gx-4L->x fEERY
114.3 12.7
] 30.2 RIgE B E F K N
N ﬁ? AH
@. . [/ Shessian e G*-4E-* 72 45 28 8Mh7 | 25/h7
AY | al
i ) G™-4F(L)- 78 38 | 27.85/h7| 6.375/h7|25.385/h7
i 3 K N
! FaAe & N
-
A B
c '
e
E
t i 1F§
0 y\‘ 10 - - 0
s | Y13
{ O p
f(— 3
ST — 5
SAEJ518b-3/4" 4-M10X15 ©
(
\ 140

A-087




it
Gl
B
®
o

Strongman

W G 3% 5E(F)- % AR EY

334
259.3
70
Il
]
[
T
I
I
&
% &
|
% -
=z

A
il j
Ll
) @ % J
A B
—C 25
26.2
_ i
- ¢D E )
o

523
!
o

+
259

LA T

152.4

HOo

SAEJ518b-1" I
4-M10X15 /!r 203

p42 36
I RISE A C @D
G*5"40 | 191 92 024
AR i G550 | 198 | 955 | @26
" \TD | e } t EN -~
5% G564 | 208 | 1005 | @28
-l — |
SAEJ518b-1-1/2"
4-M12X19
A B 210
C 6, 181
212 |
a0 | T : :
5 e AL 2| e A I
{1 ‘18
SAEJ518b-1"
4-M10X15
W G 3¢ -5L-x fAIEERY
139.7 445
3B R oE B E F K N
J
@ R G*-5E-* 89 50 35 | 10h7 | 32/h7
42 | }_
] 4-M12X19 G*-5F(L)-* 85 50 35.33/h7| 7.938/h7| 31.75/h7
1 N\

A-088




Strongman EREBRE
W& FJE AN/ % g0 A
{EFAZEH HER EMiac
BEREE TR ERRFANRE, EOEHEE, RIEBEREATH, SR 1LRENRE, $EREEIERHT
REMOR SRR EREFERNER, 4 BERANROABRE,

— A e R i R R A R SR A5 FRITRAT
-EEES R EER,
~FEESHOR T BNEHRE, BERTERSHEE.
~REHEI IR T =,

-FEB N EER SR EH R R A B =R
-MRRHEHONRMERMEE, FEARR,
—BEFARERNSETEYE, FREEHE
ERETAIMH, FAFEETRERE,

REHFWATRBEGEMRET, FERIMERN
IR, smERAREARIER (B ILEdEY,
HMEHAVERERE ) , BEEEEPTEER
MEEEBUANRT, RRREMHENHTEL,
e
FrEREFEH AT SRt s R IhRe R, EMd
Bl REAMNELA L RTTFEMARE, FER
MR IR T AR R IR 2 A EH R ARG
BEZHETR, XARARTRE,

2 REMAFEREZRH TIEIE,
3. Rl WATERERIEMR TEE,
4 ERFBITIER, BEBRRREBEAER,
FrEE AR RS
5AEMEHERGEREMRINEERTIEN
HERFEERE R
bEMANREEEREBRZA,
IAMFERERERE (nngEH
HEE)
7EEREBM R TR RIEEH R
HE,
8HR—MERERBINEHZPIE,

WIHE K ELE I A

LS ERNERRBERE LN, RINBEGEEYN
THE:

LEES Sl

AR Z SIREDR F RIS 2 AR, 7R
SMBEA TR FHOERUR . X RZESMERME (40
WERRE) THAENERTAELYMEIROLE

PERE 25
P D AR S E B R TR 2 B

EEE

BRE NIRRT SDINAS 85, sheet26 5B TFT
WF. BECRATHELS, MEAZIIMEHNZ
i (NREMERERE)

B, B R T MR S0
&N (K#2-3%)

Itk5h, EZEIRBIMERFME, B
B S E R R LRI R B E 552

ERERROER L, BFRKD, *ERER 10dB (A).
EREh R & ERNERE REHR

BiE + FRIEEEEE + B + R

——— L

—]

= e

1 BEEN B _E T BE R Z A MIEE R E 2B,

2. BERREIRCELEFEAE,

S AEHREUEE RO R,
AREEMBRF QAR EEEMEES, BREER
MEBHBEEBAXNRE,

)
%%
e

L

i

i A

1HERE, HELARBRFIEBRER,

2 IR SEIEHERREERN, LERFMESE
%%O

1R THE R LRERNET,
2EFHEAELEME (FFADIN2391 ) , RAFEE
SIEEAEMMERIER (RAWAFREI-1.5m/s ) .
44 #E R E SR K 2bar,

5. ABEAT R T ARSI i R R

BRI

1. o 2 JE e 7 A A (L 26 T 28 LE BT P N
BRGT . BERAEREHERGERAER,
2 B ENARBERE T,
3REMERWAEENNORSH O 2TER
EERE,

e
1.8 FAE B R RSB B, EEARAD
B R B T E S BB S R R A

intake pipe

==~
IIS=="1| === i

min. 50 mm

1. B {8 F6s#E 46#EER &
2AREENRBRYINESER, &
SiER B R RREEER,

3. R AR R AE AR R E R,
FIREF W ETEIEHE R,

-1

]}

X—0rcw——
N—"===A

A-089



	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89

